Mechboy's Math Class
The post below was written by Mechboy (my friend Stephen Golbe), after Arsenal had been released, but before Wizards of the Coast restricted them to 10 per deck and changed the die roll to a 5 and 6. His idea was to change the die roll per vehicle to 1 die per point of damage dealt. (Nice idea Steve, but I don't want to roll 8 dice and find that that annoying Magi still lives!) I've added some explanation at the bottom as to how Stephen gets his figures...........

Vehicle Proposal
I've been playing with my calculator and I have a few interesting probabilities regarding the discussion concerning vehicles and rolls of dice for scrapping them

Everybody can analyse the easy odds of rolling a single D6 on vehicle damage: 1 out of 6 (0.17) for scrap on a 6; 2 out of 6 (0.33) for scrap on a 5 or a 6. It gets a little more interesting if you analyse the proposition of roll a D6 for EACH point of damage (scrapping on a 6):

1 damage-- 0.17 (of course)
2 damage-- 0.31 (NOT quite the same as scrap on a 5 or a 6, interestingly enough)
3 damage-- 0.42
4 damage-- 0.52
5 damage-- 0.60
6 damage-- 0.67

Even at 6 damage, the odds of scrapping the vehicle are only 2 out of 3! (This is also the probability analysis for the scrapping option of a Headhunter pilot....)
I personally like this interpretation of the vehicle scrapping protocol because the odds of scrapping increase as the damage does, which seems to reflect the real-world model of this gaming abstraction. I also like this interpretation because it's more arguably do-able with the cards as printed. And it doesn't make vehicles totally useless--which also wouldn't be right--but it does make using them more of a gamble. But that is just my opinion....
 


Other Interesting Probabilities
While I was at it, I ran a few other probabilities which may be of abstract interest to my fellow Battletech players (all of these assume a sixty-card deck):

Probability that you will draw at least one of six cards (e.g., a Nightsky or Dasher) in your first 10 cards-- 0.68, or about 2 out of 3

Probability that you will draw at least one of 10 cards (e.g., an Assembly) in your first 10 cards-- 0.86, or about 6 out of 7

Probability that you will get a Mulligan (no basic resource in your opening 5 cards) if you have only 12 basic resources-- 0.31 (double mulligan--two in a row, 0.10)

with 15 basic resources-- 0.22 (DM, 0.05)
with 18 basic resources-- 0.16 (DM, 0.02)

Of course, after you've already confirmed the first mulligan, the actual odds of getting another are the simple odds, not the doubled ones. But as we all know from personal experience, the assumptions of Probability theory are ignorant of the actual malevolence of the universe, and the inscrutable machinery of Murphy's Divine Revelation. So please take all of this with a piece of bread, butter-side-down on the floor--and make of it what you will. 

Out.
Mechboy the Seeker (there's a Seeker born every minute)
 

The Sillywiz Explanation.
This is how Steve works his figures out.
OK let's take the following situation.
You have 12 very big mechs in your deck and 48 other cards, [I think we are going to test that turn 4 Daishi Deck!]
Let's work out the probability of drawing one of these 12 mechs in the initial draw (first 5 cards)
1st card drawn you have 48 chances in 60  of  NOT drawing a mech (48 resources and 60 cards)
2nd card drawn you have 47 chances in 59 of  NOT drawing a mech (47 resources and 59 cards, as it it the 2nd card and you drew a resource first card)
3rd card drawn you have 46 chances in 58 of  NOT drawing a mech (46 resources and 58 cards)
Do you see a pattern developing?
 

So the chances of not getting a mech on the initial draw is :-
(48/60) x (47/59) x (46/58) x (45/57) x (44/56) = 0.3135 converting to a percentage (x 100) gives 31.35% of not getting a mech.
Therefore the other 68.65% of the time you should draw at least 1 mech.
This in the initial hand, if we take the cards you draw,
Going first and drawing 1 card add x(43/55) to the above formula to get 75.49%
Going second and drawing 2 cards add x (43/55) x (42/54) to the equation to get 80.94%
 

 

Regards
Sillywiz
